At 08.00, Ruben started from Town X and travelled towards Town Y and did not change
his speed. At 09.00, Mingwei started his journey from Town X towards Town Y at an
average speed of 72 km/h. Mingwei overtook Ruben at 12.00. After overtaking, Mingwei
carried on his journey at the same average speed and reached Town Y at 14.30

(a) Find Ruben average speed in km/h

(b) What is the distance between Town X and Town Y?

Answer: (a) [2]

(b) (2]

A bullet train left for Country Zoro at 07 00. The train stopped over at Country Starz for

half an hour before continuing its journey.to .Country Zoro. It reached Country Zoro at
1345.

If the average speed of the train'was 350 km/h, what was the total distance covered by
the train?

Answer: km
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